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1. §EAT 2x3x5x7x11+1 ©
(a) TS AATSA GE&T
(b) UF WY HEAT 7K, dfch T
JAATT &A1 6l
(c) T AT TE&AT i °1q 7Tel, SAfe<h
T WTST 99 §&1

(d) TH JAT & H I e, dAfch
T WSg faww "

2.¥iwsﬁésamagmﬁi=rﬁ-ﬁaa

Tiqatl @ Tqe A © :

(i) 9% | | QAT GEw wo
TR 2160 ©

(u)u@mgwﬁ'aﬂ’rmﬁrﬂHCF
1288 | |

aﬁqﬁwﬁé@raﬁmr'sﬁaax

? R g gm 6 seast @ osiea

y &, al x AR y & NEa =1 T ?

(a) 60
(b) 72|
@ I3
d 78
3.5 A fram s € ? (Rmmar @ fo
log, 2 = 0-301 3R log 3 = 0:477 ®)
@ 16 ‘
(b) 18
() 19
d 27
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4.3 n TH w9 qUiE B, A GHIER
= ¥ et W wgea, fea-
fRadasmare ?

@ {1, n*} ‘
®) {1.Vn}

© {1, n}
d {n, n*}

5.t wieafar-gden ¥, 250 3@ A
gsiteor (IforeeR) foram @ | 79 9, 50
BEl 7 Afagh F o e fomam g,
75 ST A IO ehfeT BR 35 BET A
wifore SR wifaehr g & forg R
frar ® | 99 @ @ den feadt @
el 7 @ Sifteh 3 R ik 7 @
afrT ¥ forg Woreex forar @ 7
(‘@) 90
®) 100
(€) /150
(@ 160,

6. afc M 107 —1 & 3@ 6T TRTEA,
Sl 7 0ok G &, 3798 F K ¢,
A nFAAEIE ?
(a) 421
(b)..422
(c) 423
(d). 424
7. Frfafes ® & a9 @ w G,
TGN 22222, 22222 22222 22222 { §
o8 e ® 7
(a) 22222
(b) 22222
(c) 222722
(d) 22222
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1. The number 2x3x5x7x11+1 is

(a) a prime number
(b) not a prime, but power of a prime

(c) not a power of a prime, but a
composite even number

(d) not a power of a prime, but a
composite odd number

. Two unequal pairs of numbers satisfy
the following conditions :

(1) Thegproduct of the two numbers
in/each pair is 2160

(i1)) The HCF of the two numbers in
each pair is 12.

If x is the mean of the numbers in the
first pait and y is the mecan of the
numbers in the second pair, then what
is the mean of x and y 7

(a) 60
(b) 72
(c) 75

d 78

. How many digits are theredn (54)19 2
(Given that Jog(2=0-301 /" and

(a) 16
(b) 18
(c) 19

d 27

4. Which one of the following is a set of

solutions of the equation x'* =%/x*,
if n is a positive integer ?

(@ {1, n*}
®) {1n}

(© {1, n}
@ {n, n%}

. In a competitive examination, 250

students have registered. Out of these,
50 students have régistered for Physics,
75 students for Mathematics and 35
students for both Mathematics and
Physics. What is the number of students
who have registered neither for Physics
nor for Mathematics ?

(a) 90
(b)d100
(@) 150
(d) 160

. If the sum of the digits of a number

10” < 1, where n is a natural number,
is equal'to 3798, then what is the value
of n?

(a) 421
(b) 422
(c) 423
(@) 424

7. Which one of the following is the

largest number among 22222, 22222,
22222 22222 9

(a) 22222
(b) 22222
(o) 2222
(d) 22222

A — PLKI-T-MTK
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8.

10

Il 0 3R 50 & <= srwrsT wETEt
| HET m®; 3R 503K 100 ¥ AT
TRt N T n g, A (m— n)ﬁ-i-»'ﬂ'a?
R

(b)

00| W

(©)

27
d 2\

.ﬁx#%‘fﬁﬁ%ﬁﬁﬁ%ﬁﬁﬁ

¥ o TqTTH, 3+ 34 2 T e
ST WIS § ?

(@ 3
(b) 13
) 39

@) 117
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11.

12.

14.

QA IFH H TEH G, Th IFH W
IGA-IqA TR TS TS AT &% AR AT
¥ 9 afts | A T sl Ht w@m F
3ihi T USRS 88, TN GG FT | 7
(@) 81 |

(b) 42

(c) 24

(d) 18

qﬁaﬁﬁ,ﬁﬁﬁwﬁw
PHIxE=15=0 F 7T | TR T 6
a-B= 8%,€hk$rammmw
;550

(@ 2

(b). 3

(c) 4

@ 3

13. p AR ¢ 5 A FAW: T E, R (x-1)

IR (r+2) Sg9e O+4x’+px+q L)
fasfg o=a € 2

(@ 1, -6

() 2, -6

) 1,6

@-.2, 6

afe W5l 6 3R 12+8x+15 &
HCF (x+k) 8, Mk R AW T ?

@ 5
(b) 3
(c) 2
@ 1
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8.

10.

- (b)

If m is the number of prime numbers
between 0 and 50; and # is the number
of prime numbers between 50 and 100,
then what is (m —n) equal to?

(a) 4

. , then what is the value of ghe ?
4 def

-

()

W

0| W

(©)

27
d 5

Which one of the following/ is the
largest divisor of 3*+ 31L& 3*%2 if
x is any natural number ?

(@) 3
(b) 13
() 39

(d 117

5

11.

a12.

13.

14.

A two-digit number is 9 more than
four times of the number obtained by
interchanging its digits. If the product
of digits in the two-digit number is 8,
then what is the number ?

(a) 81
(b) 42
(c) 24
(d 18
If o and B are the roots of the quadratic

equation..x2+dx— 15 =0\, such that
a—B=8, then what is the positive

value of k?

(a 2
®) 3
() 4
)3
What' are the values of p and ¢

respectively, if (x—1) and (x+2)
divide the polynomial P +4x2+px+q ?

(@ 1,6
(®) 2, -6
) 1, 6
@ 2,6

If (x+k) is\ the HCF of x2+5x+6
and x2+8x+15, then what is the

- value of %2

@ 5
(®) 3
{¢) 2
@ 1

A - PLKI-T-MTK
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15.

16.

17.

18.

g 551 _ 55 1=600%, A 10&H AF
R ?

(@ 1

(b) 1000

(c) 100000

(d) 1000000

T O 30 TR o ¢ o6 o 12288,
28200 3R 44333 = fawivig =@ ®
s f@afs § s Sar (ueE) QuEe
WTH BT € | 98 HeA b e

(a) 272
) 232
© 2201
@ 120

afg x2 +9)2 = 6xy g, @ y. 1% fheieh
TR B °

Wy 13
(b) 1:2
() 231
(d) 3:1

afe m AR n QUi =@ TR & Fe
m"=1331%, A '(m — 1) Vet 9= =01
| 3

(@ 1

(b) 100

o) 121

d 125
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20.

21.

1 1
+
a”™" -1 a"™-1
(@ 1
(b) -1
c 0
)y 20"

, fraer SR © 7

e x=42, y=33 3k =6 &, @
e i s o ad 2 2

(8) y < x <z
(b).- @St Koy
8) z <y <»x
dr<y<z

afe log x = 1-2500 3% y = xlogx 3 A

~ log y {8 SREX © 7

22.

(2) 42500
(b) 245628
(e)f1:5625
(@ 12500

afe fx) = (xb— a)(x - B) & fonfa
forr Se, et o = B, @ AuEA F|
g ? e '

@ G2 @ -GBS ()
, Hh

v CZDAB) -G-B)f @)
a-p

© G=PI@-G-a)fB)
a-p

x=-B)f(B)-(x-a)f(a)
a-p

(d
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15.

16.

17.

A8

If 51 _51=600, then what is the
value of 10%?

(@ 1

(b) 1000
(c) 100000
(d) 1000000

A number divides 12288, 28200 and
44333 so as to leave the same
remainder in each case. What is that
number ?

(a) 272

(b) 232

(c) 22¢

(d) 120

If x2+9y2=6iy, then what/ is 7 : x
equal to ?

(2) 1:3 ;

(b) 1:2

(c) 2:\

d 3:1

If m and n are positive intggers/such

that m" = 1331, then what/s the value
of (m—-1)*12

(@ 1

(b) 100
() 121
(@ 125

7

19.

20.

21,

22.

; 1
What is = - 1 equal to ?

a" ™" —

(@ 1
(b) -1
() 0
(d) 2a™™"

If x=«/§, y=%/§ and z=%, then
which one of the following is correct ?

(a)
(b)
()
@

Y X <aZ
PR
TR Y S

x<y<z

If log x=1:2500 and y = x'og*  then
what is Jogy equal to ?

(a) 42500

(b) 2:5625

(c) 1-5625

(d) 1-2500

If f(x) is divided by (x- a)(x-p)
where a=f, then what is the

remainder ?

Gz f(@)-(x-Bf(B)

(a) . )
(b) =) f(B)-(x-B)f(2)
a-p
(x=-B)f(@)-(x-a)f(B)
()
a-p
@ x-B)f(B)-(x-a)f(x)
a-p

A - PLKI-T-MTK
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23.

24.

25.

Ife us ot w1 St
2401x* + 196x2 + 4 8, T SEhl o1
TS TR ?

(a) 49x% +3x+2

(b) 49x%2-3x+2

(c) 49x2+2

(d) 59x%+2

AR x, yz % IR @ @ Y, Ay
forass wfoeioa: s @ @ 7

(a) xz

(®)

%[N

(©)

(@ )

W%ﬁ@ﬁaﬂi Q TEAT @1 R i

gearsi 0-73 31k 0-56 = frefa =@
A PIROGS IR G R ?

1
(a 5

1
®) 5

16

(© 5

11

d %

PLKI-T-MTK - A
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26.

27,

28.

xy-gHdd W) 5x+2y=7xy3ﬁT
10x + 3y = 8xy &l
I &R At g I w1 g ?

1
(a) _la E)

(b)

()

el

d —g,—l)

et a8g X & 5 & wde av 20%
it 3fg Bt R AR A Y F o H
i o 10% &t 3fg 2t ® | a¥ 2010
T, @& X &1 ¥ 25000 =1 3R 9%
Y T T %2000 o7 | fAm ¥ # weelt
AR BA% JeA1 & SR 5000 ¥ s
L AT 7
(a) 2012
(b) 2013
(c) 2014
(d) 2015

X 3R Yy & ot (9) o su
5:6 & hafe 12 km I = 95 (@)
A7, %X 70 m K fama (gfen)
< B, @ | F A Shaw 3R et
()& S ?

(@ 30m % IR Y X SAiqar &

(b) 90m F IR Y Y | Saar &

() 130 m ¥ 3R ¥ Y 39 Siiaar g

(d) X foaga SRR R 99 Bt §
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23.

24.

25.

If the

of a
2401x* + 196x2 + 4, then what is its
side length ?

area square is

(@) 49x%+3x+2
(b) 49x2-3x+2
(c) 49x%2+2
(d) 59x%+2

If x varies as yz, then y varies inversely
as

(@) xz
X
® >
© =
_1]
d ()

If the points P and Q represent real
numbers (-73 and (-56 on th_e

number, line, then what is the distance
between, P_and Q ?

1
(a) P
w
(b) 5
(©)

(d

9

26.

27.

28.

What is the point on the xy-plane
satisfying S5x+2y=7xy and
10x +3y=8xy ?

1
® (-3

 §
1
© (1 g)
1
@ (=2.<1)

The price of an article .X increases by
20% every year and price of article Y
increases by 10% every year. In the
year 2010, the price of article X was
75000 =nd price of article Y was
<2000, In which year the difference in
their prices exceeded I5000 for the
firstdtime 2

(a) 2012
(b) 2018
(c) 2014
(d 2015
The ratioiof speeds of X and Yis 5 : 6.
If ¥ allows X a start of 70m in a

1-2 km race,) then who will win the
race and. by what distance ?

(a) X wins the race by 30 m
(b) Y wins the race by 90 m
(¢) Y wins the race by 130 m

(d) The race finishes in a dead heat

A - PLKI-T-MTK
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29.

30.

31.

32.

Ife us e i Y A SEH qw=
Tt & 5 km/hr =1 fear s, @300 km
H e g A | 98 TS o HE A
AT HH ol § AGid ded R g
AT A QI U Ug UgHdl © | oISt A
g T (I1) | ?

(a) 50 km/hr

(b) 40 km/hr

(c) 35 km/hr

(d) 25 km/hr

7t 6 gev 3R 8 wfeamd ww FW A
10 f&7 # [ &R & 8; R 13 g8
3R 24 wfeand, et 4 & g
I GHhd €, Al U foT # UH g g’
Tore 1w = &1 ue o W we wfean gr
for Mo @@ &, S @R ?

(a 118

(b) M2

() 4:3

(d) 3:4

T F4l H DE @l el b TS GHH
AT atelt ufehat § festar strar & | afe
TS Gfth ¥ BET 6 gEear 2 5@ o
STl ®, O ufchal it gemr 3 &9 8 ot
2 | afe uds ufts § =l & g@n 4
QT 4 T, A ufcral B g 5 e
Tl T & | FEEH ST ot gedn fehat
R?
()
(b)

100

105

(c) 110

(@ 120

Teh gAIAT ol 2 9T o Tl o figa
A FIHRY A W T TR | AR
1% QT S 8 § N 9 oRIET
T, 9 W R 24 7 e g A |
gaiyr feraet § 7

PLKI-T-MTK - A
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33,

34.

(a) %500
(b) Z600
(c) %800
(d) 1200

 TiEl it SHEE FAW: 1525 3R
2600 ¥ | afc wgsr wiam F gEEi A
SeET & Afearsi fi SwEen @
AT 27 : 34 © 3R R G F gui A
SAEed & Hfgemsit ft Swen ¥
IO 6:7 B, A T QA AET A
SEE]_hl_fieTed, wgest I SHEen

'zmn%maﬁ'ﬁwwﬁagmm

-g?
33

@ 53

85

(b) 5

71

©) 90

A
@4

Teh el H wefehal 6l §CAT & Al

6w ¥ I 3:4 T wEW A

forenfiat = sitga e 4.6 B2 & | 3fe

HET | Ighl ol 3NEd e 4-8 BT R, A

e H weferdl o 3ied o TR ?

(@) 42 e q 59

() 4286k ¥ s A 4.3 Fe A
&9

(c) 43 Hic ¥ sfte Afew 44 e |
&

(d) 4-4 Hie A sfas AfwT 4.5 Fie |
G
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29.

30.

31.

32.

A train takes two hours less for a
journey of 300km if its speed is
increased by S km/hr from its usual
speed. What is its usual speed ?

(2) 50 km/hr
(b) 40 km/hr
(c) 35 km/hr
(d) 25 km/hr

If 6 men and 8 women can do a piece
of work in 10 days; and 13 men and
24 women can do the same work in
4 days, then what. is-the ratio-of daily
work done by a man to that of a
woman/?

(d 2@

() 112
() 4:3
) 3:4

Students of a class are made to sit in
rows of equal number of chairs. If
number of students is increased by 2
in each row, then the number of rows
decreases by 3. If number of students
is increased by 4 in each row, then the
number of rows decreases by 5. What
is the number of students in the class ?

(a) 100
(b) 105
(c) 110
(d 120
A sum was put at simple interest at
certain rate for 2 years. Had it been
put at 1% higher rate of interest, it

would have fetched ¥24 more. What
is the sum ?

11

33.

34.

(@)

(a) 500
(b) %600
(c) T800
(d %1200

The population of two villages is 1525
and 2600 respectively. If the ratio of
male to female population in the first
village is 27 : 34 and the ratio of male
to female population in the second
village is 6 : 7, then what is the ratio
of male to female“population of these
two villages taken together ?

33
41
8

(b)2>

71

@ 5o

S
D%

In a ciass room the ratio of number of
girls to that of boys is 3:4. The

* “average height of students in the class

is 4-6 feet. If the average height of the
boys in the class is 4-8 feet, then what

"is the average height of the girls in the

@

class ?
(@)
(b)

Less than 4-2 feet

More than 4-2 feet but less than
4-3 feet

More than 4-3 feet but less than
4-4 feet

More than 4-4 feet but less than
4-5 feet

(©)

A - PLKI-T-MTK
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3s.

T (320) 3,5,9,4,6,11, 18 it wrfeysnr
(ifema) = & 2

(@) 6
(b) 65

(© 7

TS

36.

THIJOR@ A A AR € | R Qo &
FUT T AFIE 1:2:38, A qo@ T2
¥ Tl T T © ?

(a) 200°

(b) 180°

(c) 150°

(d) 120°

Fiafe Heated & Ry et wvem

37,

% JAfeRan st # 250 ¥ 50 F S

fem T R | v It IsEaw s 170

¥ oiR\fran @ 70 41 ek

Tedieh H G SR gAaH MTHIE

& & R feraer ® 7
(a) 15
(b) 17
(c) 20

(d) 24

PLKI-T-MTK - A
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FE = (03) weAt & forn fAde

Frafafea gomm =t afen ok omt s @
frrafafaa swe af 2010 # ©: -3
St A, B, C, D, E 3R F ¥ 91 7T At
e () W frefe < €, R
FAN: I F @ty @ (), Pty s
sraftr § g Qufoe a1 et wftreor ww
foran (v) 3R o wot frediom (Qedie) &
WA T €I (Z) | '

X Y VA
86 - 45 25
1305 903 461
2019 940 474
1166 869 416
954 544 254

1198 | 464 174

38. wivtitra QiftEt it siftem sk wrgaw
(T ) wfSTeaT arell Siet A €

(@ F3RD

HEH O QW] >

(b) D3R F
(c) C3R A
(d D IRA
39. wiifr At At srfream Fem w
T o ®
(@) F

() D
(c) B

d A
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35. What is the median of the data 3, 5,
9,4, 6, 11, 187 '

(@ 6
(b) 65
(c) 7

@ 75

36. In a pi-diagram there are three sectors.
If the ratio of the angles of the sectors
is 1:2: 3;then ‘what is the angle of

the largest sector ?
(a) 200°
(b) 180°
(c) 150°

(d) 1200

37. The maximum marks in a Test are
converted from 250 to 50 for the
purpose of an Internal Assessment. The
highest marks scored were 170 and
lowest \marks were 70. What is the
difference-between the maximum and
minimum marks scored in the Intemnal

Assessment ?
(@) 15
() 17
(c) 20

(d) 24

13

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

The following data presents count of
released convicts who have served prison
terms (X), those who have received some
educational or technical training during their
term (¥Y) and those who were offered
Company placement (Z) respectively, from
six different jails A, B, C, D, E and F, in
the year 2010. '

2% Y z

A 86 45 25
B 1305 | 903 | 46l
C 2019 | 940 | 474

D 1166 | 869 | 416

E 954 | 544 | 254

F 1198 | 464 | 174

38. Jails,with highest and smallest percent-
age ‘of trained convicts are respectively

(@ F and D
(b) D and F
(c) C and A

(d D and A

39. Jail. with, highest placement rate of

trained convicts is
(@) F
(b) D
(c) B

d) A -

A'L'PLKI-T-MTK
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40.

41.

42.

43.

3 9, Tt wfvfea ftat & & sm
¥ afts Qi = ARG (IE) W
TEE WH B R, ©

(@ A, B3R C

(b) A, B 3R D

(¢) A, D3R E

(d A, E3RF

o st At Y "] (@t st
fira €) foraeit € <t 7 @ wow € 3R
JH Il W A Il K oA _U% i
7 ¥ WG ?

(a) B4
(b) =
(c) IR
(d)

x 3R y % Fm wiE wm E @

THIRIT 5x + 9y =7 Wl TG W€,

<

SRl —500< x < 500 3R —500 < y < 500
g7 ’
(@) 110

‘() 111

() 112

(d) S9GH W _FZ el

A i 6 xyz 3-stet (T sint)
& TH G § | W AifiE S=XYZ +
YzZx+zxy % | Feafafea # 3 &=
q/q T owE R/E

1. § 9e3 3 3R (X+Y+Z) q w9 ©
2.5 GF 9 ¥ WA ®

3. q@ 37 W ®

PLKI-T-MTK - A
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44.

T fiu W Fe = WE W gE SW
b - |

(a) &9 1

(b) Hae 2

() 132"

(d 1 3R 3

freh fafem @ =1 = & fog,

X 3R Y & 3fgq Tiadid,: 5% uTa
H T | Al T TR T X YR

e 45 RreefE T R, A Y @

Iq TqF d% Yo A feam @
R ? ‘

(a) A35 fo=e
(b) 150 f=e
(¢) 180 fiie

(@) 225 fye

45.

et 3 Jewit w dmer s R
TAGA P & | 5 L AE H WS

HE T §?

28

NS

Bt
® 2p

2P

(© 5

3
(d) (29)
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40.

41.

42.

43.

Jails from which more than half of the
trained convicts are offered jobs, are

(a A, Band C
(b) A, B and D
(¢c) A, D and E
(d A, E and F

The number of three digit numbers

(all digits are different) which are
divisible by 7 and also divisible by 7
on reversing the order of the digits, is

(a) Six
(b) Five
(c) Four

(d) Three

How many integral values of x and y

satisfy the equation 5x + 9y = 7, where
—500 < x< 500 and —-500< y < 500 ?

(@) 110
(b) 111
) 112

(d) None “of_ the ‘above

Let XYZ be a 3-digit pimbér/ Let
S=XYZ+ YZX+ ZXY. Which jof the
following statements is/are ¢orrect ?

1. § is always divisible by 3 and
X+Y+2)

2. S is always divisible by 9
3. § is always divisiblé by 37

44.

45.

=

Select the correct answer using the
code given below :

(@) 1 only
(b) 2 only
(¢c) 1 and 2

(d 1 and 3

In covering certain " distance, the
average speeds of*X.and Y are in the
ratio 4: 5. If X takes 45 minutes more
than Y to reach the destination, then
what is the time taken by Y to reach
the destination ? :

(a) 135 minutes

(b)' 150 minutes

{¢) 180 minutes

(d) 225 minutes

For two observations, the sum is S and
product is P. What is the harmonic
mean of these two observations ?

R %

®) @B

() 25)

A - PLKI-T-MTK
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46. At x & aiffe 3@ vy it aiffes s
J 20% Aftd ®, A YR AT X WA
T p% T & | p o A FT 8 ?
(@) 10
(b) 16%

) 173
(d) 20

47. Wt <EAAH QU 9 we W OR S
3,4,5 637 q 9T §°
(a) 1764
(b) 17640
(c) 44100

(d) 176400

48, TR o R Q) Frw E | 7 At

fermat A @il e @ e s

B F 20 fre @ € | @ Faa Ted
foerra =1 @ie S A e 30 e |
grell B € | afe Faw que fem @
@Il ST Q@ chl hl @rett g 3 fepaan
THY TR 7
(@) 30 fide
(b) 40 Te
(c) 50 e
@ 60 fre

49. afe (x2 = 1), ax*+bx3+cx? ¥dx+e I TH
TAEe ?, 9 frafafaa ® am @
TS W’ ?

(@ a+b+tc=d+e
() a+b+e=c+d
(c) b+tc+td=a+e

d a+c+e=b+d

PLKI-T-MTK - A
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50.

51.

o2,

53.

Hﬁ'(x% 1)=47 %,T‘h(x6+ ljaﬂ

< o
AT ?
(a) 36
(b) 27
(c) 18
@ 9

e ufear U e # 360 oIR THAT # |
UE. fee. H. a8, afea foan 3o gar
g

(@) 4rn

(b) 67

(€)"127

(@167

(25 cosec’x + sec?x) T <ATH A F1
B 7 ‘

(a) 40

®) 36

©) 26

d) 24

T =i & 0 < 0.< 90° 3R
1000'=90° 8| af a =122, cotnb %,

q frafofeg # & @9 @1 T @@ ?

@ a=1
b)) a=0
©) & »1

d 0<ax<l
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46. If the annual income of X is 20%
more than that of Y, then the income
of Y is less than that of X by p%.

50.

If (xs +L8) =47, what is the value of
X _

What is the value of p? ( g g
X +—6
(a) 10 x
(b) 16% (a) 36
© 174 () 27
(d) 20 (C) 18
i 3 @ 9
47. What is the least perfect square which
is divisible by 3, 4, 5, 6 and 7 ? , } :
51. A wheel'makes 360 revolutions in one

(a) 1764

- minute. What is the number 'of radians

(b) 17640 : : it turns in one second ?
(c) 44100 e (@ 4n
(d) 176400 (b) 67
48. In a water tank there are two outlets. OF 43
It takes 20 minutes to empty the tank
if both the outlets are opened. If the (d) _16”
first outlet is opened, the tank is : :
emptied in 30 minutes. What is the 52. What is the least value of

time taken to empty the tank by second

(25 cosec’x + secx) ?

outlet ? e
(a) 30 minutes ‘
(b) 40\ minutes (b) 36
(c) 50 minutes (c) 26
(d) 60 minutes @ 24
53, Let 0<0<90° and 1006 =90°. If

49. If (x**—1) is a factor of

axt+bx3+cx®+dx+e, o =122, cotng, then which one of
then which one of the following is -~ the following is correct ?
i :
correqt fie G
(@ atb+tc=d+e
() a=0

(b) atb+te=c+d
(c) b+tc+d=a+te (c) aa>1
d atcte=b+d d 0<a<l

17 A - PLKI-T-MTK
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54.

55.

56.

af2 tan 60 = cot 20, <Tet 0<69<_—72£ 2,
Tl sec 40 H WA T § ?

(a) \2
(b) 2

9

© Vel
4
@ 3

15 m 391 U& 99 €41 901 ¥ 36 WIR

zean @ fon gwent ot wfir (o) S g
T 3R 9 % T 30° F HU ST R |

m%wﬁgiﬁﬁéﬁﬁ:ﬁ%mﬁ
AR ?

(a) 10m

(b) 7m

(c) Sm

(d 3m

T qHqd & § Q1 FEAR HAR T
TR A 100 Fe @ w €1 DA
HHAR 6t S 40 BE ® | 6 He F=r
(391) TS @37 @ HEARE & T B

g el W@ W39 UFR Gl 8.5
TFT AR s 3R TW 1 AT uw |

W R ¥ | A S AR e ww R
Q75 fe B, O T HAR Hi S
(ewreT) feraet @ 2

(a) 85 wie
(b) 110 Hie
(c) 125 Hie
(d) 140 e

PLKI-T-MTK - A
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7.

58.

T HAR &% 79 € p 3R g H g | 3R
w § owe @ # Rm @ gt @
AR & i & I9aA T SFHA: 27°
IR 63°F | AR I FAE T ?
(@ pg
®) -VPg

rq
© S

@

$in”6°+sin?12° + sin%18° + ... +

_ sin?84° + sin290°, T A =T § ?

59,

(@ 1
(b) 2
© 4. |

: _(d) 8

_cosO 1
1+sinf cotf’

fores aeR £ 7

(@) cosec@

(b) secO

(c) secO+ cosecO

(d) cosecO-—-cotd
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54. If tan 60 = cot 20, where 0<60<§,

then what is the value of sec 407?

(a) 2
(d) 2

2

(© B
4
()] 3

55. A tree of heightr15'm is"broken by
wind in such a way that its top touches
the ground and makes-an angle 30°
with the ground. What is the height
from the ground to the point where tree

is broken ?
(a) 10m
(b) 7m]
(c) Sm

(d 3m
56. On a plane area there are two vertical
towers separated by 100 feet apart. The
shorter tower is 40 feet tall. A pole of
length 6 feet stands-on the line joining
the base of.two towers:so that the tip
of the towers and’tip of the pole are
also on the same line. If thé distance
of the pole from the shorter tower is
75 feet, then what is the /height of the
taller tower (approximately)?

(a) 85 feet =
(b) 110 feet
(e} 125 feet
(d) 140 feet

57. The angles of elevation of the top of
a tower from two points at distances
p and g from the base and on the same
straight line are 27° and 63° respec-
tively. What is the height of the tower ?

(@ pq
®) pg

rq
(©) 5

o 1

58. What is the value of
- sin%6° + sin?12° + sin%18%+ ... +

sin?84° + sin290° ?

(a) 4
(b) 2
() 4
| (d) \8
595 What is gosd + : equal to ?
1+sin@ cot6
(a) cosec@

(b) secO
(c) secO+ cosecO
(d) cosecO - cotf

19 A - PLKI-T-MTK

Join Telegram : https://t. me/defenceekaksha




Mé% é@?&%ﬂﬂ

| LET’S LEARN TOGETHER |

sin@—cosf@+1 sin9+1[_: E
* sin@+cosf@-1 cosO ’

64.

1—2sin? @ cos? 6+4 =1 7 R
sin® 6+ cos* @

€7 TR B ?
(@ o0 @@ 0
(b) 1
(c) 2sin@ (®) 1
(d) 2cosO (c) 2
61. (tan x + tan y)(1- cot x cot y) + @ 5
(cot x + cot y)(1— tan x tan y), foraa :
27 65. T AT 48 cm & 3K 14 cm 9191 © |
() 0 afe foremf, <t arell_wom & w1 @07 0
(b 1 STl &y @hn(secH + eosecO) Torah
(© 2 TR § ?
4 ID
[sec x= tan - i 168
N tad 4 :
i secx+tanx’ L *) 725
1 ¥ O
(2) sinx + cosx
: % 3735
» ——F *
tan x + cotx .,
1 (®>2é
© —w B 84
sec X+ tanx
@ - 66.wﬁ§ammw%ﬁaﬁ§mﬁ
cesecx +cotx

63.afy 0, Yum mgEly i st iR

zxxyyz

©) (Xt y +2)?
3 .
cot0=% g @ (sin@+ cos@) = AT Nz
R ? ®) NS4
(@ 1 X+ ysz
(b) o Ny oy
65 (& o
e G
ol
‘(c) 65 @ xy+yz+zx
(dy . 2 xyz
- PLKI-T-MTK - A 20
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(@ 0

_ sin@-cos@+1 sin@+1 64. What is the value of
60. What is — 2 . 2 2 :

sin@+cos@—-1 cosO 1—-2sin” O cos 6+4 equal to?
equal to ? sin* 0 +cos* 6 :
@ 0 @ 0
bl
i ®) 1
(c) 2sinf
(d) 2cosd (e) 2

@ 5
. 61. What is (tan x + tan y)(1- cot x cot y) +

(cot x + cot y)(1- tan x tan y) equal to ? 65. A rectangle is 48 cm long and 14 cm

wide. If the diagonal makes an angle 6
with the longer -side,~then what is

il (sec@ + cosecO) equal to ?
(c) 2
@ 4 775
i | @ 768
—tan
62. What i§ .| " equal to? 725
secx +tanx (b) 162
1
— 375
@) sin X+ cosx (c) -8—4—
1 3
®) tanx++cotx ()] %
© —5 -
o) —
Secogy tan 66. What is the area of the triangle having
-l
_ Y z y
(d) copoll Acot¥ side lengths -;+; x+; ;+z ?
63. If O lies\in the first quadrant and 5 (x+y+2)°
A
cot6=%, then what is the/value of * Rz
(sin@ + cos0) ? ®) «/xyz
(@ 1 xX+y+z
. o e o
®) 65 (c) —+ 5 +;
79
© 65 xy+ yz+zx
d 2 \J

21 : A - PLKI-T-MTK
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67.

68.

69.

afe wh By & For 30° 3R 45° ¥
#R TR s (wEfrs) T R
wart (V3+l)om 8, A P
A% FT ® ?

(a) (\/§ + 1) cm?
® (V3+3) em?

(©) —;—(«/5 +l) cm?
(d) 2(\/5 +1) cm?

ABCD, IR 94l & AR 6 Th
@E R | X@1 £F, @1 DA % GHIK § 3R
fawruif 4C sk BD & wforsdg fag 0@
TR TR g | 3@* Afafew, E, DC
R R R R FABR =93 ¢ | e
ABCD § & fipia fe&i DOE wen
TR W & W SN o e &
éwm@ﬁz%aﬁwﬁagqm
G ?

(@)
(®)

©

0| BAlW Qv 0|

()

20 cm 3R 16 cm &t Bt 9 Q1 99
T R FE & IR TS o
SaTs 24 cm ¥ | A 9% FR & A=
F gt d B, A Teafofea & & <9 @

TE TR R ?

PLKI-T-MTK - A
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70.

g ®

72.

(a) d<26cm
(b) 26cm<d<27cm
(c) 27cm<d<28cm

(d) d>28cm

SCmiﬁﬁmﬁlﬁ@’éﬂﬁ,a
stard 4B R 4C @ ¥R ¥ &
AB=AC=8cm ¥ St BC i @13
TR ?

(a) 9cm

(b) 9-2cm

(c) 9-6cm

(d) 9-8cm
2 Gl B & @ & € | I
SA%el Al ANHe 136mem? ® 3R

ST ¥ o SiF Wl gl 4 cm ¥ | H
gt & ream .= € ?

(@) 1l cm, 7 cm |

(b) 10 cm, 6 cm

(c) 9cm, 5 cm

(d 8 cm, 4 cm

4% UF g9 ok UF @ & e SR
2, Q) Shu et & SruT o g ?

(@)
(b)

(c)

SR

(d)

‘Join Telegram : https://t.me/defenceekaksha
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67. If the angles of a triangle are 30°
and 45° and the included side is

(x/§+1) cm, then what is the area of
the triangle ?

(a). («/5 + 1) cm?
) («/3 +3) cm?

70.

©) %(«/3 +1) cm?
@ 2(v3+1) cm?

68. ABCD is a plate in the shape of a
parallelogram. EF is the line parallel
to DA and passing through the point
of intersection O of the diagonals AC
and BD. Further, E lies on DCand F~
lies on AB. The triangular portion DOE
is cut out from the plate 48CD. What
is the ratio of area of remaining portion
of the plate to the whole ?

=
(a) 3

Ll wa

(®)

Hlw

(©
L
()8

69. Two circles of radii 20 cm and 16 cm
intersect and the length of common
chord is 24 cm. If d is the distance
between their centres, then which one

of the following 1is correct ?

23

Ths

72.

(a) d<26cm

(b) 26cm<d<27cm

(c) 27ecm<d<28cm

(d) d>28cm

In a circle of radius 5Scm, 4B and
AC are two chords such that

AB = AC = 8 cm. What is the length of
chord BC?

(a) 9cm

(b) 9-2cm

(c) 9.6 cm

(d) 9-8cm -

Two circles touch internally. The sum
of their areas is 1362 cm? and distance

between their centres is 4 em. What are
the radii of the circles ?°

(a) 41 cm, .7 cm
®) 10 cm, 6 cm
(c) .9 cm, 5 cm
(d 8 cm, 4 cm

If area of a circle and a square are
same, then what is the ratlo of their

perimeters. ?
(@ 2z
®) V7
© @
Jr
() T

A - PLKI-T-MTK
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73. 8 cm ATH aTl1 Teh 991 36 WhR T /-1
2 f5 o8 @ wER &« @E Ao
w=ar ¢ | iR & 3= st S 39
for & =9 weR @1 T ' fF aw
T @Rl 3R g W wy aRar |
B g9 H A T & ?

(@) 4(3-+2)cm
() 4(3-242) cm
(c) 8(3-+2)cm
d 8(3—245) cm

74. TF oA A Al 1 $E §, 30 So @

gt B 3 fie ok 3= 7 fie

? | T wiake wde B W F fag
ot v fadw 1 i wE < e
AAGFHAT Bt € | 3@ o b Tl
Tae! Sl { ¥ W & g @ A
ferat wEm 6t sEsEeRar © 2
(5)%1%12?

(b)—g—ﬁm

(c\) gﬁﬂ'&

10
(d) o fae=

75. 0% a9 3R T A & &AhA SR
1 ot amma B w o B e
TEATHS €9 § M Sl TH 1 A5
F F F WeR B, A F@A H I

() o & wé

' PLKI-T-MTK - A , _
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76.

(a) A go Fit F=IE H® WA
(b) St HT I A TS H AT
(c) T (THH) g A

(d) =t & o f F=E B/ GE

TF A H dars IR 9SE, 4:3 F
siqara # € | A el % fewat ok ==

R SR A G s 5,

faauit % fowdt ok DG WM A S
o Bs & gawa, q squa e
2

(2) 34

(b) 4,:3

W ) 16:9

07
XT84 20° @1 TS a9 (Prowaz)

(5

AW Wi 6 30 fiefear a0 @

TR Uk 8 911 191 § | 3@ AU 8
A, BTG\ R ?

(a) 150z aif e
(b) 5507 =t e

(c) 6507 = e

(d) 8507 =t Hie
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73.

74.

75.

A circle of diameter 8 cm is placed in
such a manner that it touches two
perpendicular lines. Then another
smaller circle is placed in the gap such
that it touches the lines and the circle.
What is the diameter of the smaller
circle ?

(@) 4(3-2)cm
() 4(3-2+/2) cm

(©) 8(3-+2)cm
@ 8(3-2+2)@m

The thickness of a cylinder is 1 foot,
the inner radius of the cylinder is 3 feet
and height is 7 feet. To paint the inner
surface it requires one lifre of a
particular (colour. How much quantity
of the same colour is required to paint
all the surfaces of the cylinder ?

Z litre
@ 3

litre

(b)
(©) § litre
3
(d) 19 itre
3

A square and a rectangle have equal
areas. If one side of the rectangle is
of length numerically equal to the
square of the length of the side of the
square then the other side of the
rectangle is :

76.

T

(a) square root of the side of the
square

(b) half the side of the square
(c) of unit length

(d) double the side of the square

The length and breadth of a rectangle
are in the ratio 4 : 3=Then what is the
ratio of thearea of the triangle formed
by the parts of the diagonals with a
long side to the.area of the triangle
formed by the parts of diagonals with

. a short side ?

(@ 344
(b) 4:8
{g) A6: O

@ 11

Suppose a region.«i§ formed by
removing a sector of 20° from a
circular region of radius 30 feet. What
is ‘the area)of this new region ?

(a) 150x square feet

(b) 5507 square feet

(c) 650x square feet

(d) 850x square feet

A — PLKI-T-MTK
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78.

79.

80.

ABCD U& @9k =" ©, fmd 4C
3k BD faawt € | afe «BAD =60°,
ZADB=90° %, Q1 BD? fraad &R}
g2

3

(a) 3 AB?

2 AB?
4

i AB?
2

(®)

(©

(@ %ABZ

Uh QHIR =99 ABCD & fid 4 @

il A U @D/ P et ®

3R g @l el A BCA QR Freat

g1 afe p, DC w1 wemfeg R, @

freafafea & & @7 a1/3 =0 o5

/% ?

1. APDA 1 85%d, APCQ%W
- T

2. AQAB & &9%, APCO® &A%
G §

T fiu U e W WER R EE W

g .

(a) Haad 1

(b) *aq 2

(¢ 13R 2%

(d I@1,782

1-4 m B 3R 5 m T e g For

(F9) @iea & forg foray o #ftex fired

Qe gt ?

(@) 302 ¥9 #HieR

(b) 30-4 ¥ HiR

(c) 30-6 ¥ IR

(d) 30-8 w9 HIR

PLKI-T-MTK - A
Join Telegram : https://t. me/defenceekaksha

26

81.

82.

83.

afs T gags & fawol ek y € @
JHHT TR T © ?

@ >

by

©) xy
(@ x2-)?

P fgeet i ot
3x’4 y95% %’W 3x<4\/;<'5%/;
? | afs Bas = ws Ao 900 2, @

X, Y, z % IAGH QUi HIA ST 4T
T

@ 1,23

(L2, .
A 1.

@3, 45
T fr97 & siftren & sifdres fora wRaw
F G

(@ 1
®) 2

o K6)-3

84.

(d) 3=a

W&Gcmﬁwaﬁﬁaﬁiﬁaﬁ%?ﬂq
30° S EE R aRka Fdl §, ar
I8 99 I qSGTS T TR § 2

(a) 314 cm

(b) 2:15 cm

(¢) 214 cm

(d 2 cm
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78. ABCD is a parallelogram where AC

79.

80.

and BD are the diagonals. If
4BAD = 60°, ZADB = 90°, then what
is BD? equal to ?

3 e
—AB
@) 5

3 n2
= 4B
() 3¢

1 2
— AB
S 2

2
—AB
@ 3 _

A line through the vertex 4 of a
parallelogram’ ABCD meets DC in P
and BC produced in Q. If P is the
mid-point of DC, then which of the
following is/are correct ?

1. Area of APDA is equal to that of
APCQ

2. Area of AQOAB is equal to twice
that of APCQ

Select thel correct answer usmg the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1%“and 2
(d) Neither 1 nor 2

How many cubic metre of earth is to
be dug out to dig a well of radius 1-4 m
and depth S5m?

(a) 30-2 cubic metre
(b) 30-4 cubic metre
(¢) 30-6 cubic metre
(d) 30-8 cubic metre

27

81.

82.

83.

84.

If the diagonals of a rhombus are x and
y, then what is its area ? ;

@ 5

24

®) -

()
(@

Xy
X2 y?

The lengths of sides of a triangle are

3x, 4\5, 5/zgmwhere 3%¥<4.[y<5%z.

If one of the angles is 90°; then what
are the minimum integral values of
X, y, z respectively ?

Wi

(b)"2; 3, 4
c) A1, %
()] JRE
What is the maximum number of

circum-circles that a triangle can
have ?

(@ 1

(b) 2

(c). 3

(d)" Infinite

If an arc of \a circle of radius 6 cm
subtends ‘@ central angle measuring

30°, then which one of the following
is an approximate length of the arc ?

(a) 314 cm
(b) 215 cm
© 214 cm
(d 2 cm

A - PLKI-T-MTK
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85.

86.

87.

5m ¥l Uk Higl Th &R # 30 UHR
Gt TE ® T 98 U QER W 4.8 m 3
formg e vt @ ok afk @ @G F T
= feame fomr 5@ ama 9 (ki)
SR H AR 7 fear S @ 7% 14 m
ﬁﬁ@ﬁ@?ﬁ%lmaﬁrﬂm‘é
frat 8 ?
(a) 58 m
(b) 6 m
() 62 m
d 75 m

U Tohs e e g foew W 9
FHTET M GIE TS ATHER - Hl FER. e
T GG TR ?

(a) 4 = S

(b) 242 = T

(c) m &t ZH1E

(d) 2= 3918

r Frem aett 4 T = Hﬁﬁﬁaﬁﬁ
3 QT U WA W 36 TR T T
? Tor vee g 3 @ et ot et aat
g | Sl e A 3 [ W | YER @n
€ 6 ue g weft et e @ et
W%lﬁﬁa%%&'ﬁmﬁ
?@mﬁ%v

(a) 2

(®)

(©)

(d

PLKI-T-MTK - A

Join Telegram : https://t.me/defenceekaksha

28

88.

89.

UF & gAd S TE Mes 6
-3 f &9 | IRag w=a1 ¢ | AR
Mok & IO &6 p AR o &
THIT FTFA ¢ §, O Freaffaa 73
I | T TR € ?

@ p=gq

(®) p=2q

) 2p =g

d 2p = 3q

ABCD T& wg¥9 3@ WoR § f&
AD = DC = C4.= 20 5&T3, BC = 12
FHESRIZLABC =\90° § | IqHT
ABCD &1 &=%el sl foraem © ?
(@) 269 = z&S

() 300 = T@rS

(c) 325 = @

(d) 349 ol TwTE

90.

I ®ioe f6 9 cm B 9@ s 9w

& =W PORS ¥ PO, OR ¥R RS

R SlE F ® | OF A R Th
sfgediEn T ® (Sar 5 sma #
feamar mn R) | wif@ &= = seRE
& | AT TR ?

(@) 25:121

(b) 5:13

(c) 5:18

d 1:2
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85.

86.

87.

A ladder 5 m long is placed in a room
so as to reach a point 4-8 m high on
a wall and on turning the ladder over
to the opposite side of the wall without
moving the base, it reaches a. point
1-4 m high. What is the breadth of the
room ?

(a 58 m

(b) 6 m

(c) 62 m

d 75 m

What is the area of the largest.square

plate cut from a circular disk of radius
one unit ?

(a) 4 square units

(b) 22 square units
(c) = square units

(d) 2 square unjts

Out of 4 identical balls of radius r,
3 balls are placed on a plane such that
each ball touches. the other two balls.
The 4 ball is placed on them such that
this ball touches all the three balls.

What is the distance of centre of 4th |

ball from ‘the plane ?

(a) 2\/2 r unit

) ————ﬁj;ﬁ .

(©)

unit

unit

;
3-242

247
G

unit
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89.

A right circular cylinder just encloses
a sphere. If p is the surface area of the
sphere and ¢ is the curved surface area
of the cylinder, then which one of the
following is correct ?

@ p=gq

®) p=2q

(©) 2p =g

(d) 2p = 3q

ABCD is a quadrilateral such that

AD = DC = CA = 20 units, BC = 12
units and £LABC="902 What is the
approximate area of the quadnlateral
ABCD ?

(a) 269 sq units
(b) 300 sq units
“(c) 325 sq units
(d) 349 sq units

Let PORS be the diameter of a circle
of radius 9 cm. The length PO, OR and
RS"are equal. Semi-circle is drawn with
OS as diameter (as shown in the given
figure). What is the ratio of the shaded
region to that of the unshaded region ?

(a) 25:121
(b) 5:13
(c) 5:18
1
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@ ™ smaE # oM &= w1 e

fram &, afe v 9w 6t B 2em

g7
(@) 4/8-27 cm®
(b) B -nem?

© B-Tem®

(@ 27-2+3cm?

92.

© 6/3 wnits

6 units |

ﬁqmaﬁ@ﬁ,@rﬁaaﬁwm
fram @ ?

(@) 9(m-+3) =t =3
(b) 3(4m-3+3) = T
(©) 3(3n—4+3) =t w=rd
@) 9(3-m) T TS

6 units

PLKI-T-MTK - A
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94.

v

foq g sma #, afe
AxFMAA MG ?

D £
==6 IR=-=5%,

(a) 45°
(®) 30°
{c) 13%

(d) 10°

ABCD Us HiSm® (§He«) ©, el
AB, DC % @9IR & | Al AB=4cm,
BC=3cm,CD=7‘cm3ﬁIDA=20m
?, N hfsmm &1 &mwa T @ 2

(a) 22\/2 cm?
() 22@ em?

(c) 2243 cm®

22«/_ 2

@ i
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What is the area of the shaded region
in the given figure, if the radius of each
of the circles is 2 cm?

(@) 43 -2mem?
(b) 37 em?

© «B~§ om?

@ 27— 2«/5 cm‘2

6Y3 units

6 units 6 units

6v3 units

In the given figure, what is the area
of the shaded region ?

(@) 9(w—+/3) sq units _
(b) 3(47:—3@) sq units
(¢) 3(3m—4+/3) sq units
(d) 9(/3-m) sq units

93.

94.

& S
< rd

In the given figure, if % =6 and ; =5,

then what is the value of x ?
(a) 45°
(®) 30°
(c) 15°

(d) 16°

ABCD 1is a trapezium, where 4B is
parallel to DC. If AB=4 cm, BC=3 cm,
CD="7 cm and DA =2 cm, then what
is the area of the trapezium ?

(a) 22\/% cm?

(b) 22\@ em?

(c) 22+/3 cm?

2242 i,
ek ¢

o —
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fiu 1@ @ ¥ PO, RS F WAK
R, ZAEF=95°, /BHS=110° 3K
ZABC=x"%, W x M AA TG ?

(a) 15
(b) 25
(c) 30
(d) 35
g @ se # Fw feam wg-#
L+ 2+ B+ L8+ 45+ L6+ 27+48 9. =
FTHN 7 . G
- ¥ o M% | \B >
(a) 240°
: 40°
(b) 360° ~
5 < >F
E C 3
() 540° , / \ \<55
, : G
@ 720°

feu e @ #, 4B, CDF wHIK © 3R
AC, BDS @9k ® | AR LEAC = 40°,
£LFDG=55° /HAB = x° ®, a1 x &1
HE FE ?

(a) 85

(b) 80

(c) 75

d) 65
PLKI-T-MTK - A 32
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95 : In the given figure PQ is parallel to
> 3 RS, ZAEF=95°, /BHS=110°, and
ZABC = x°. Then what is the value of

x2?

(@) 15
(b) 25

5 () 30

7 6 (@ 35

Angles are shown in the given figure.
What is value of Z1+£2+/3+/4 +

25+ Q% L1 #2880 , 97. 2
(a) 240° . Mx ’\B >

(b) 360° It

(c) 540° i : /E _ c\ \%; £
@ 720° | | G

In the given figure 4B is parallel to
CD and AC is parallel to BD. If

96. ' ZEAC=40°, LFDG=55°, LHAB=x°,
,F ;’F : then what is the value of x ?
4 E (a) 85
el
>> P ®) 80
L —a 1100
s et
(&) 73
0 ¥ d) 65
33 A - PLKI-T-MTK
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98. (@) 153 cm?
B
(b) 25-5 cm?
(c) 284 cm?
= 2 100. :
feu o sm@ #, = 3 99 ABC, AEF
¥R CDF R | 4 &R C & &= FyQd ¥
28 TS ©, 3R _F, AC =l HeafsRg =4
AT G BT FA SABA TRl © ?
. o
(2) 924 =1/ =
(b) 824 =i ZehTE y :
| fem v sm@ & wed #, frafafea
(c) 624 = TaTE oAt 2 feER Fifer
| ' 1./A4A0D 3R ABOC & &=%ai &
(d) 462 =i T TA%A AAOB 3R ADOC
' Bl & FRTHS & TR ¢ |
99, ’ 2. LAOD = LBOC
.\3. AB+BC+CD+DA>AC+BD
8 cm
- SWh H A q e A ® 7
6 cm 6 cm
k (a) Aol AR 2
(b) s 23R 3
. ' (c) Fa@ 133
feq o @ #, iR &7 @ SEwe
R T & 7 ) 1,233

PLKI-T-MTK - A - 34

Join Telegram : https://t. me/defenceekaksha




®

\Gyan

LET’S LEARN TOGETHER

08. : (@) 153 cm?
B
(b) 255 cm?
(c) 284 cm?
z D 100. 5
In the given figure, there are three semi
circles ABC, AEF and CDF. The dis-_..«
tance between 4 and C is 28 units and 4
F-is the mid-point of 4C. What.is-the
total area of the three semi circles ?
o
(a) 924 square units
D ¢

(b) 824 square units

Consider the following statements with

©) 624 Share Lits reference to the given figure :
: 1. The sum of the areas of AAOD
(d) 462 square units and ABOC is equal to the sum of
the areas of AAOB and ADOC.

99, . : 2. ZAOD = /ZBOC
/% 3. AB+BCHCD+ DA > AC+ BD
SCm,_ \
‘Which of the above statements are
6 cm 6 cm : correct ?
8cm

W : (a) 1 and 2 only
/ (b) 2 and 3 only
(c) 1 and 3 only

What is the approximate area of the
shaded region in the figure given ? (d 1, 2 and 3

35 | A - PLKI-T-MTK

Join Telegram : https://t.me/defenceekaksha'




®

\Gyan

LET’S LEARN TOGETHER

ey @ & fog W

PLKI-T-MTK - A 36

Join Telegram : https://t.me/defenceekaksha




®

qgyan

ET’S LEARN TOGETHER

SPACE FOR ROUGH WORK

37 A - PLKI-T-MTK
Join Telegram : https://t. me/defenceekaksha




®

qgyan

ET’S LEARN TOGETHER

e W & fog s

PLKI-T-MTK - A 38 :
Join Telegram : https://t. me/defenceekaksha




®

igsiongyan

:T’S LEARN TOGETHER

SPACE FOR ROUGH WORK

39 A - PLKI-T-MTK
Join Telegram : https://t. me/defenceekaksha




migsiongyan

| LET’S LEARN TOGETHER |

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : PLKI-T-MTK : s Test Booklet Series

TEST BOOKLET

ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO,"GET IT REPLACED BY.A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at

- the appropriate places in the OMR Answer Sheet. Any omnssnon/dlscrepancy will render the
Answer Sheet liable for rejection.
3. You have to enter your Roll Number on the Test
« Booklet in the Box provided alongside. DO NOT write
anything else on the Test Booklet.

4. This Test Booklet contains 100 items (questions). Eact item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more-than one correct response, mark the
response which you consider the best. In any case; choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the respouse to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Anuswer Sheet. You are permitted to take
away with you the Test Booklet.

9. Sheets for.rough.work are appénded in the Test Booklet at the end.

10. Penalty for wrong Answers': 2
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the'candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii)) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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